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KPR BB RS (ZEUFEFZH)

28 2 i R R 1 8 FERE
IS (B/E)

diigica 6-10 8-83 8.2 E
FMEE (mg) 100 35- 72 53 E
WY 4E & (mg) 10 48-7.1 6.1 =
MY 48 (mg/l) 2,000 140 - 624 449 pss
FALYI44 8 (mef) 10 <05 <0.5 E
ALVEE (me) 0.1 <0.04 - 0.044 0.041 =
BOFEBEE (mg) 100 21 - 68 39 =
HAE  (me/D) 20 <10- 12 11 E
feasE  (mgh) 05 <0.3 <0.3 =
REEEE (mg) 1 <0.6 <0.6 T
I EMER (me/) 15 <7.0 <7.0 s
EEFEEE (mg) 2,000 336 - 410 375 E
EHhR & (mg/) 200 42 - 130 81 =
EE (0 43 21-25 22 =
T %) E (mel) # - - = -
EBEESE -

fift - (mg/l) 2 <0.4 <04 E
# (mg/l) 5 <1 <1 pss
i (mg/l) 0.1 <0.1 <0.1 s
&  (mg/l) 1 <0.3 <0.3 E
i (mg/) 2 <0.5 <0.5 s
# (mg/) 2 <1 <1 T
$f  (mg/l) 5 <0.2 <0.2 s
K (mgh) 0.05 <0.05 <0.05 E
$8  (mg/) 2 <1 <1 s
iR (mg/) 2 <0.4 <0.4 E
¥ (mg/l) 5 <1 <1 s
#E (mg/) 2 <1 <1 =
EaEwBEEE#H (mg) 10 <7.0 <7.0 =
Bl (mg/l) 5 1.0-1.6 1.3 s
# (mg/) 10 <2 <2 T
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BB
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 yass
AR LN (mgl) 0.01 <0.01 <0.01 s
FEEHEY
AEE (mel) 0.1 <0.06 <0.06 s
EEHiLEeEyw
1,1,1-= & 2 J5E (mg/) 0.05 <0.025 <0.025 =
ZEBE -
% SR 4 & (me/) 0.003 <0.003 <0.003 y
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28 P22 1l IR 1 GEERO I | FERE
(HEmg ) ® (B/E)
() =+srEPaE @
f¥okr  (kg/0.5h) 0.58 0.00-0.31 0.01 e
“ &AL (kg/0.5h) 3.86 0.00-1.34 0.11 s
B % (kg/0.5h) 1.16 0.00 - 0.32 0.06 2
#Ib= (kg/0.5h) 0.08 0.00 - 0.01 0.00 =
ALY
(L Z & 18 & 5F &) 7.71 0.00 — 2.09 0.82 =
(kg/0.5h)
daF R (ke/0.5h) 0.39 0.00 - 0.04 0.00 yes
— & 1B t% (kg/0.5h) 1.93 0.00 - 1.09 0.07 =
() HigE ©
AL (kg/day) 9.25 0.03-1.08 0.14 s
“ &AL (kg/day) 46.27 0.11-7.50 3.69 =
i (ke/day) 9.25 1.95-3.57 2.76 s
#ALE (ke/day) 0.93 0.10 - 0.29 0.22 v
&Y
(M = &1L & 5 &) 185.06 16.76 — 44.16 38.1 =
(kg/day)
daF R (kg/day) 9.25 0.00 - 0.27 0.12 s
— &AL (kg/day) 46.27 0.11 - 7.50 3.69 =
() FHAih
S8 P22 1l IR S FaRE
(HEme %) ® (B/E)
= = (L A
Srs e e ey | 09 0295 =
BEBEALEY)
(MHEbLE & EFHE) 0.73 <0.003 s
(kg/h)
B% 1& (DLBR B% 51 5 (ke/h) 1.45 0.242 =
AR CIBEETR) (ke/h) 0.21 < 0.006 v
R RA RS (kg/h) 0.19 0.005 e
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(HEme %) ® (/&)
FESBE B “:

FHeBGE—BNEE _
(ke/h) 0.0019 < 0.0003 yss
FHESBEZH) O:

il (kg/h) 0.0023 < 0.0001 A
FHeBGE_BNEE _
(ke/h) 0.019 < 0.0019 e
7 (kg/h) 0.0019 <0.0001 2
T EFE (ng/h) 2,891 48 yss
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28 22 1] PR R GEER S5 By £r& R E
/&)
B
o A 8 12.4-12.7 12.6 ~

o o 30 56 - 92 77.0 .
EB&B
% (ppm) 05 <0.5 <0.5 it
7K (ppm) 0.1 <0.02 - 0.022 0.020 yass
4 & (ppm) 10 <0.5-0.6 0.50 B
A (ppm) <0.5-1.8 0.7
#  (ppm) <0.5 <0.5
#r  (ppm) <1.0 <1.0
# (ppm) <0.5 <0.5
S~ 8RB PERY <25-38 2.7 -
448 (ppm) 25 B
# (ppm) 20 <1-1.4 1.0 o
WAEY) (ppm) 10 <5 <5 v
ZAEE (ppm) 10 <2-27 2.0 =
ALY (ppm) 5 <5 <5 yea
BEE S
i==4 J 4 A
ERIESTRYS 5,000 R T i
= (ppm)

S A s . \ X
AREERR 10 P i N
(ppm)

2 X iy 44 & \ \ \
(ppm) 2 i A3 i
% & B A (ppm) 1 i A3 A
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(ppb)




	I. 引言

